NIOTAXxYYTIALA TV R—E —2022.10.01—

Glid No. K4 K&HF R %K%J?\';L% R—L f‘f??,]o;
0274518 |[HAR FE |74% vovy | 8| mm#s [vEy v F6C 25.1
0407606 [/ AR FEIX |74% rvos | B dmE [vEYw F6C 18.5
0274519 | @ |74% srsF (B dkmE |VEH Y TG 15.3
02714520 |HEF 2z |74/ =vax 8| dLmE vy v T6C 20. 7
0922818 |F I fB— |7#4¥~ 3avs7|8i| dme vy F6C 15. 1
0258052 |FRllE SE=  |7hvx amve| 8| dmE vy .y F6C 13. 1
0553235 [FNA BF] |7y w4+ B dEE VxS v TG | RENEF
0274521 |3 H FBH |79 prx (x| kmE |VEHY TG 5.9
0274524 |BRZE |G |79U= eox [Be| dmE |VEH Y TG 6. 1
0162801 |BRE & FHE *3,000 | B[ dtsE [VEHy J6C 24.2
0274526 [BEE IFBH |7X=v <v7%|Bt| dmE |VEH v T6C 12.3
0274527 |2 [EE |75F v=en [BH| dmE |VEH Y TG 8.3
0274529 |5VEH FIZE |7+4 rrax (@] dkmE |VEHY TG 12.0
0524975 (PAER BASE |7~ 74= | diEE |VEHw F6C 19. 1
0426071 |fA[ER —E |7~ HX< Bt dmE |VEH ey F6C 10.4
0274532 [PAIER ¥R 7R 3w 2| dtEE [YEH v TG 1.2
0393910 |FRH & T4 AHL B dtimE [YERHv T | RENF
0875493 |2 FEH |(7rFY 3vua| B dEE |VFHy I | KIE
0575238 [{RFH Z= 14 £OY BtE| dEE |VEH v JG6C 9.8
0961107 |ERIF = 149h rAL | BiE| disE |V v T6C | KRENEF
0914895 |FH+jE B 155> v (B dmE |VEH Y TG 16.4
0274537 [{RAE & 1935 3wy (B LmE |VEH Y TG 14.4
0274538 [;thH BE— |14 vv«4F |[B| 4mE |Vx9 v TI6C KIS
os71111 [thER Al ' ED Bif| dBE [YEHY e T6C FKENH
0983331 [t FEAN |1%% vRet+ |B| &tiBE |vYEHw F6C KIS
0274539 ([ FE |104» 273 | B8] dmE [vEH v T6C 16.8
0300004 ||/JIl FAN |1vr7 eF+ |[Br| dmE |VEHy F6C 9.8
0274540 (A Uk 1295 A96 | BiE| dtEE |VEHy F6C 9.8
0274541 |AA BF |[1v®r Lo x| dmE [vEYy F6C 27.4
0274542 |FNR IEE |1 Xz Frea [Be| dLmE |VEYH Y TG 11.8
0922341 (FHBH FPK |1ex vavs |B| dLmE [vEH v TG 5.7
0274544 (R = 18= EFY | BiE| dmE [VERYy TG 25.5
0274545 [FJI| 3F AN  |4F»7 3o+ | 8| dmE vy F6C 21.3
0274547 |{R7EE BN |1+o 7xer (B dkmE |VEHY TG 11.9
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Glid No. K4 K&NF R %K%J?\';L% R—L ,{2%??70;
0274548 [{FEE TH—ER |4+ avq7oy|Bte| dmeE |VEH v T6C 15.5
0274549 (R 8K |1+ bt | BiE| BRIR VXYY T6C | KNG
0274550 |{RFE FE |1+ bosF (B dmE |VEHY TG 17.8
0778334 |FEE JRh |13 <ven|®:H| dmE |VEYH Y FGC 14.0
0274551 [ R}, FER [1xwn 234+ |BtE| dmE VXY I | KRG
0274553 |FH E SRBH |1/ vsvx(me| mma |VEH Y TG 11.8
0274554 [F F F|H  |q/vz 344 | S| dEE |VEHy J6C 17.6
0274555 | S FE |1« 3y |B| LwE |YEHy 6 | REINEF
0001404 | &S Ff —IE |1=L35 HRax|BH| dmE |VEH Y TG 5.2
0274556 | =35 Ml 19F3 847y |Bt| dtsE |[YVEyy J6C 12.6
0274557 |}EEH EE YIS w4 Bt dmE |VEH v F6C 18.0
0274558 |HEEH FHHt vy 3vx  [E=e| m=m#s |VEH Y TG 13.6
0274561 [BEF BASE |TEo eoax |B#| dmE |VEY Y TG 10.9
0274562 | IEk |#1% =9+ |[BH| dmE |VEH v TG 22.2
0274563 | KN FEHH T |[#497 enav| 8| Lme [vE4 v F6C 12. 1
0274565 | K AIR SEME|+4o% vrt |Bi| dmE [vF4 v F6C 12.3
0274567 | KB I —BR |#4o% avszron| Bix| dmE |VEH v J6C 23. 4
0274568 | KA TEF |#4%= vava|xi| dme [vF4 v F6C 12.2
0876386 |KHD Y |#A=y vav~q|Be| dmE |VEH v TG 12.5
0274570 [ KZR fA Ay 2he Bl mm# [YERHy T | RENF
0411228 ([ £&8BA Ah ¥4ED B dimE [YERHv I | RENF
0688688 [[EJIE — & |[rrvx ery |Bi| dmE [vEYw F6C 8.4
0938629 |[EIFH & AHhE HrY B dmE [YERHv T | RENF
0274574 |fE]IL FRE |Ahv= pvs x| dmE |VEH Y TG 16.3
0274575 (3L JEEE |[r¥v< <vot | B dmE [vEYy F6C 19.5
0725263 (/N FASHS |[#¥7 »XeF | BtE| dmE |VxHv 6 | KEEF
0274576 [/NFH BTz |45 v re B tEE [VYEHy TG 28.0
0393866 (/N AT |5 2mv 2| EE |VEY v T6C 1.3
0274578 |ING B — |#¥= varaF|EH| dkmE |VEHY TG 26.8
0274579 |#5i%5 EME  |+F s+ Bir| dEE |VEHv TG 12.0
0664701 [/NEFIE ¥ |[#/vx eny | Bi| dmE [vEY v F6C 9.3
0274580 (/7 BARE |#¥= 7xea | Bi| dmwE [vEYw F6C 15.8
0274582 |48 EE |p*¥x< eF/ I8 dmE |VEH Y TG 13.3
0804137 |55 H¥) HBIE |»pv~y 754 2| dmE [YEH 9T | KENE
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Glid No. K4 K&HF R %K%J?\';L% R—L ,{2%??,]0;
0274585 |4 18—  |paxv vavqaF| 8| dmE [vEYw F6C 14.7
0274587 |fNFE FEAER|H+o rosmsy (@] kme |VEHy TG 26.8
0274588 |fNFE B |[prw vrsy (B dmE [vERYy F6C 16.9
0736703 |JNFE 3B|iZ  |Hrw vavvar| 8| dmE vy v F6C 23.6
0274580 (fNFE EFE |[rrv 2n/u | B =ER [vEH v T6C 1.2
0547490 |fINfE FEF[H+~ Fha x| dmEE |VEHy TG 13.1
0274590 (fNFE JET] |[pro =v> | Bi| dmE [vEYw F6C 6.6
0274591 |JNFE HBLA [»p+v 3ven |Bi| dLmE [vEYw F6C 14.6
0274592 |€FH B |h+a Fy/T | B| dmE [vEY v F6C 1.7
0591037 (32 TAF |[»+¥7 Fava|xi| #HER [vFH v JGC 23.6
0591039 |32 =ERB)\ |»7+¥7 axeo|®:H| BHER |[VEHw F6C 16.8
0274593 |3 FTH |hre suTx | Bi| dmE [vEYw F6C 11.7
0274595 | F B |h#3 rvos |Bu| dmE |VEHw F6C 17.8
0274596 |ZR&M FEBL  |(hs/m hvsu | B dmE [VERYy F6C 10.6
0274597 ANkl IEHE |[n/ =9+ | Bi| dmE [vEHw F6C 10.7
0274508 |32 FEE  |pvv7 vzy [Be| dmwE |VEH Y TG 9.1
0326521 [JI|.E —3k |»7hs »X+ |[BH| 4BEE |VEH v T6C 21.2
0475792 |JI| £ JHER |»pohz w4/ |BiE| dmE [V TG | KREE
0961113 |JI| O T [»72vF »vo> |B#| tsE |VExHy TG | RIS
0677827 |JI| O iE hITF Tar | B dtsE YISy J6C 13.0
0961106 [JI|IRF ;&T] [poo% 2wy |82 dEE |VFHv TG | KNG
0274603 [(A[Ff BEIE |H7435 ah<y|Bi| &@E |YEXHv T | KENEF
0274604 |JI|%F 15 HILS Ak | B tsE |VEHy T | RIS
0274606 |JI|Ff BRER |p7L435 =v3av|®e| dmE |VEHy F6C 31.3
0274607 |Zgith = *0F T¥5 Bt dtEmE |VExHy JG6C 14.7
0274608 |ZgHh EXRF|[*vF =va | diEE [VERYy TG6C 18.2
0274609 |FRA EH— |¥vEr vrqF|(BH| dmE |VEH Y TG 1.7
0731278 A BEE] |FrEr vamo|B| dmE vy y F6C 11.2
0274610 |4t JEK ¥4 39a1x | B kEE [VEY Y TG 14.5
0274611 |t ZBH ¥4 YR7E | B tEE [VEY Y TG 9.0
0910797 |JLFF 14 ¥4L5 LY | B kEE [VEY Y TG 18.6
0666700 [P [EI7E |¥FK F4> BiE| g |VEFY v TG 19.7
0274614 | KEF EEF|¥/ sva wiE| dmE | VERYyT6C | RENEF
0274615 | KREF B |%/ av~r  [B:H| dmE |VEH v TG 21.3
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Glid No. K4 K&HF R %K%J?\';L% R—L f‘f??,]o;
0274616 | KT {i x/v48 a7y | BiE| kEE [VEY Y T6C 17.3
0273321 | KT FTESE |¥/v% 3vas|8n| dme [vxy v 6 8.5
0274617 |RK#f BHE |¥435 7¥en |B#| dEE |YEHv T | KNG
0665799 | T3 B |rv vven  |8i| dme [vE4v J6C 11.9
02714621 | BRI |v=v 3>/v |2 kmE |VEHy TG 20.5
0274622 | AR i SR ¥R Bit| dmE [VFYy TG 11.0
0274623 |A{R BEIL |v# 3vay (@] kmE |VEHy TG 10. 2
0274626 |ZE | [& sUYz 5hL | BtE| dEE | VEY v TG 10.6
0961103 |ZxH —B} [v7% 450y |®=#| dEE |VYExHy JFG6C FKENH
0274628 |/\;th #8—ER |24 avqFoy | Be| dmE |VEH v F6C 8.9
1001689 [Hy)I| 12 aA7 YL Bt dtimE |vEHYy TG 1.6
0274631 |FXJI| & avhT eny (B dmE VY J6C 16.5
0871580 [/NE & TSI YR Bif| dBE VXY T6C FKENH
0274633 |INS AEF|25%= vz2 | dtimE [VFHy TGO 17.3
0274634 |INDS HE 24= RRL B dmE |VEH Y T6C 9.5
0932009 |/\FK BB3E  |anvy wbs |=i| dmE |VEHw F6C 26. 3
0274638 [/\AR KBF |2/8ve £oe |@#| kmE Vx4 v J6C 10.3
0436030 /NG T |=EV ave  [®:#| ks |VEHY TG 9.5
0274640 (/NI E—EBR|avr* *rFoy| 8| tiBE |VEY v T6C 6.3
0274641 [/\H] BEEF  |av = raa || dmE [vERYw F6C 16.0
0274643 /N EHE  |2v< =¥+ | BH| dmE |VEHy F6C 24.8
0274644 (3T ETth aY FUY Bt dmE |YEFHv J6C | REVF
0887667 (JTFE SRBL |av K Freo|Bt| dmE [vEYy F6C 24.7
0274636 |127%E == |Irv avy [B#| dmE |VEH Y TG 21.3
0274637 |k B — [IrY Fuv BE| dmE |VERHY T | RENFF
0446676 | A E HALE NDHA BiE| dBE |YEHY e T6C FKENH
0274645 |EERE FOIT [+ HX 2| dmE [YExHo TG | KENE
0779227 |EEfE 1EAZ |va+ eorx|®e| dmE |VEH Y TG 19.4
0274646 [3{H & YhA FHL Bl mm#p |V FHy TG 9.4
0664032 [SBEFH T A |¥ha pver 8| dmE [vEYy F6C 13.9
0274647 |YgF {&— |vha vavqaF|(BEH| dkmE |VEHY TG 20.6
0274648 [ H {— Hha EbY | BHE| kEE [VEY Y TG 1.8
0274649 [SRFH HF |vra =va x| dmE [vEYy F6C 18.6
0274653 (IR O FE— |v15F avs7|Bi| dmE [vEH v F6C 10.3
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Glid No. K4 K&HF R %K%J?\';L% R—L f‘f??,]o;
0274655 ({EAR K B |vvx 7ve | Bt| dmE [vEHy J6C 21.4
0405826 [{£ A K FOth|vv+ nx¥y |Bi| dmE vy v F6C 2.0
027465 [{E R K BEF|vv+ =va  |xi| dmE vy v F6C 20.0
0274658 |{E A K EEIL [v9+ vxen |[®#| dme |VEH v F6C 14.0
0001402 ({EAR KR FEK|vv+ 3av+  |Bt| dme (VY4 v I6C 6.7
0274659 |{E S tdH2 |¥4» enax [®e| dmE |VEYH Y F6C 8.3
0274662 ({£f E= |[#+v 74V |BtE| dmE VXY I | KRG
0274663 |{kfE &HF |vro rxra (x| dmE |VEY Y TG 21. 4
0274664 |{kfE FE |vry eF B LmE |VEHy F6C 13.7
0274665 |{Apk &L |vrY eox BE| dmE |VERHV T | RENFF
0274666 |{AfE BEF |¥+v ena x| dmE |VEYH Y TG 9.0
0001405 ({AFE {ERK [+ 3v+y | Bi| dmE vy v J6C 2.9
0274668 [{£EF F=4T |¥/ enax | B| dmE [vEYw F6C 11.0
0144252 3B FME |v94 nx/T | BiE| dmE [vEYw F6C 2.5
0274670 |FE T ZE SHEER ATA | B LmE |YEHYy T6C 1.9
0673819 fEH BAT] |[v/% 2wy | 8| dmE [vEy v F6C 8.2
0784547 [LEH IE— |22 3xHX | BiE| =HBHF |V TG0 5.9
0454278 (B E BRE  |owxx g4nv |8 dLmE [vEH v F6C 12.5
0274672 |3&7K BH LIX TES | B dmE |vEYw J6C 9.9
0274673 3EJK T|EH |vsX engrn (| dmE |VEH Y TG 5.1
0274675 |3EJK EE |v3x 3ven [B:H| dmE |VEH Y TG 12.8
0804126 |78 BHIE [vEvas srax|®:e| dmE |VEH v F6C 10. 2
1003087 | 7@ EE |vED2s sax|xw| dmE |VEH v TG 13. 1
ooot406 |HJI] DS [|¥387 £ | dtimE [V FHy TGO 1.9
0698216 Rk EHT|H|RT+HA rv3a |Bi| &BE |YXHv T | KENEF
0274678 | & $AF ZH 793 k| dtisE [WEYw JG6C FKENH
0274679 |'E A 1E 2AY 450 Bl dmE |VEHy TG 14.3
0274680 |&[R IE ZAADS AHL | B dmE |YFEHy TG0 11.8
0861967 |E R J2z |RH75 vvax|BH| dEE |VYEHY T | KNG
0274681 |EJR EXIF|RxH775 vF2 |xi| tBE |YEHv T6C 14. 5
0274682 (A2 AR = |R¥EF a9Y | Bt dEE |VFH v FGC 15.5
0274683 (4K EF |xX* 7#qa  |xt| dEE |VEH v TG 8.5
0274684 |FA K BEF |RrX* vuru (B kmE |VEHY TG 4.7
0274685 |$A AR FFN |rX* eFHx (B kmE |VEH Y FGC 15. 1
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Glid No. K4 K&HF R %K%J?\';L% R—L ,{2%??,]0;
0274686 |$AAR FEL |xX* eF/u (B dmE |VEH Y TG 19.3
0274687 |$5A & ZAZX% £Oy | B FEE (VY v TG6C 9.6
0680688 (BHAR Eh |txx 2vy |Bi| dmE [vEHy T6C 11.3
0274688 |E 2 v¥/ 3YL Bt dEE |VEHy T6C 10. 2
0001401 | FZ B= |[tv4 3= Bt dtimE |vExHYy TG 2.6
0274689 |5cly FR |wrvF 74 (B dmE |VEH Y TG 20.5
0274690 (EEARUE B ER |vavx vavay|Bi| dmE |VEHw J6C 14.5
0274692 (B H ¥AL |4n4 enx x| dmE [vEYw F6C 11.7
0274693 |48 PEER  |2hny hysu| B dmE [vEYy F6C 18.9
0001400 |EHE T |shny k1o (B dmE |VEH Y TG 1.7
0274694 |EHE FAN |51y eFr (B dmE |VEH Y TG 6.6
0981261 (=B B ahns vy | B dEE [vEHy T6C 13.6
0274697 | R FEBYL [#h3 zvry | B dmE |VFHv TG | KIE
0274698 | £ fg— |24z 3vqF [Be| dmE |VEH Y TG 34.7
0274700 |TAN BEE  |so9F vod (B dkmE |VEH Y TG 10.6
0838213 |ITKE F AN [27>% eFr | B| 4mE |YExHy TG | RIS
0274701 |f7H BR a5 75 | B dEE VY T6C 20.5
0741908 (TH BRF |24% v/2 wit| dmE (VFHv T | REVF
0274703 | [RER 574 2vmy (@] LsE |VEH v F6C 8.6
0560349 |44k i Brvy vRU| B dEE [VEYy T6C 6.4
0670212 |FHIE FBE |49+ eF7x |Bt| dmE [vEH v F6C 10.4
0274705 | = gyn ahy | BtE| tmE |VEY v TG0 10.8
0820938 | FH i 24 <ak 2| tEE |VEH v T6C 10.9
0661981 |FHER BE— |5+ 2917 |[B:#| dmE |VEH Y FGC 1.6
0274707 |HHHE BBE |4+ 24t | B8] dmE vy v 6 14.3
0456879 | = 8 Hh bAL | B dmE [VEYy F6C 1.1
0274708 |HHeh FEFE |8+H /UK B dmE [YERHv T | REF
0274709 (FH R fE a+h e¥L | B dEE |VEY v F6C 25.8
0274710 [BAKR FRF |[s=% Fav~q|Bt| dmE [vFH v F6C 14.7
02714712 |EH AN 574 sxer (B LmE |VEHY TG 12.0
0458434 |H#FT FZ (2435 vanve |B#| tsE |VExHy 66 | RIS
0274715 |1FAR Bl YAEL (94 | BH| dwmE |VFEH v TG 15.4
0274717 | 34 vo s Ty | B dEE [vEYy T6C 13.9
0443807 |t & LF|vFr~ oo |xi| tmE |vE4w F6C 17.0
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Glid No. K4 K&HF R %K%J?\';L% R—L ,{2%??,]0;
0940251 EBFE FE YLt YR | 8| dmE [vEY v T6C 8.9
0471562 |HBEE i YIS YRa | &i| dEE [vEH v T6C 13. 1
0274718 |F B TFfE |Fv= =ven |8 dmE vy v F6C 1.1
0274720 [ EZ  |r#4¥v~ /72 |81| dmE [vEY v F6C 1.4
0274721 |BAR F— |rFY vavsF|(EH| kmE |VEHY TG 9.3
0274722 |=2AR EH FHY ERa | BtE| dEE |YEHy J6C 5.1
0274723 |BA & FoS YRy | BtE| dEE |YEHy J6C 9.0
0274724 |t EELA |tEt FAEno (B dmE |VEH Y TG 16. 8
0274725 |BA H— |rFzEF vooF|(BH| dmE |VES Y TG 18.5
0274726 |BA BIF |rtz®Er sua [&#| dmE |VEH Y TG 22.8
0984672 |+ H FE— Kq amqF B dmE |YFHv I | REVF
0961104 (EAJI| {BE |+»#7 tiea|B| ®Eas |YEHv T | KNG
0792226 | BB B FHE 24 B dmE |VxFHv I | REVF
0274727 |2 FER  |##vy7 vxst | Bi| dmE vy v F6C 14.7
0274737 | K& |=1 rENL B dmE [YERHv T | RENF
0611911 |7 1E 40 =y vuy 2| tEE |VEH v T6C 21.9
0274739 |75 #&3A =y vxEn | Bt| dmE (VEYy F6C 19.9
0466518 |FHAT FEER |=vL435 avov|®e| dmE |VEH Y TG 8.8
0961105 |¥fH EA |[=v42 7vey |B#| 4mE |VEHy TG | RIS
02714741 |;BH BE |xv% sn7% (8| LmE |VEH Y TG 1.6
0274744 |(BFIRE TEPER |/ ¥+ <94n |BH| dEE |YEHY T | KEINEF
0274745 |BFH Mk |/ 4 T+ 2| tEE |VEH v T6C 6. 1
02714746 (Bt FBE] |/L3 vy | Bt| dmE vy ey F6C 14.1
0274747 [FBAR = NOER 7YY B dmE [YEH v F60 14.0
0274748 |} EiF | vEF Eva |[&#| LmE |VEHy F6C 21.7
0274751 |4H == hf NG %A Bt dmE |VEHy F6C 17.0
0570736 | &1L FE#t |arv< e dsE |VEY Y F6C 12.6
0274756 [JEA BBEY |~=Eh 7E V| B8] dmE vy ey F6C 15.0
0347359 [ELJI| E= NYHhD TES | B tmE [YEHy TG 8.3
0845530 (ERYy EAF |vyr TreT|Br| dmE vy ey F6C 20. 1
0549353 | BRI {32 Nyh sry | Bt tEE YRSy T6C 10.5
0937149 |#K £ K Ny vavs | B dEE (VYo 6 | REE
0274759 |FKk 2L nyy ahby B dmE |VES Y F6C 11.1
0274760 |k {E nNYy 2755 | Bt tEE [YEY Y T6C 20.9
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0274761 |Fk BRE nvy eny | B dmE [vEYy F60 17.0
0937762 |k 18 3T Nnvyy Envs (B dmE |VEH Y TG 22. 4
0165391 |#Kk R nyy zak (B dmE |VEH Y F6C 11.6
0274762 |[B {32 jE% N ruJy B dsE |YEY Y F6C 29.9
0274763 [[RH &R |54 714 BiE| tilsE |YEFY v T6C 21. 1
0274764 |[RH BE |54 svay [B#| dkmE |VEH Y TG 18.4
0185087 |FA £ NLVE ahY B dmE |VEY Y TG 5.7
0274752 [EE1E NI |/ 4z | demE [VEHw T6C 21.2
0274753 |EE12 E&E |/ £a v Bt dmE |VEH ey F6C 10.8
0274765 (5|87 E— |ex/ 2wy | B8] dmE [vEY v F6C 11.4
0274767 |FRIE {R=E |e4n s 72 [Br| dmE |VEH Y TG 10.4
0665039 | B Bp X £/ a4y Bt dmE |VEHy F6C 17.4
02714768 |EFH Bz |e54 arax 8| dmE vy v F6C 13.0
0274769 [EFR BE  |e5/vy 3o b |Bi| dmE vy ey F6C 21.17
0250602 |FEfG —PUER|cmvs »xomy|Bi| dmE |VEHwv F6C 19.7
0274711 |48FH BRk |77« r=Fru |BiE| dmE [YXHo 66 | KRENE
0944765 |$E[E FBEE |7o4H 2% (B kmE |VEH Y TG 17.1
0274772 |FEFE B — |7oa raaF | Bt| dmE |VEHy T6C 14.3
0299953 | @y Il —BA |Zan7 »xeo|®:E| tEmE |vVEY Y TG 14.9
0274774 | BE— |70% vZ2AX | B ¥ |VYEYw T6C KIS
0274775 |2HN 1&— |hoh vavq T kmE |VEHY TG 10.4
0001179 |28 BHE |k>/ rrea [B:#]| LmE |VEHY TG 10.3
0804134 |2 FF #2 |hv/ enax (B dmE |VEH Y TG 19.7
084849 | BBy BE |t/ wy7F || dmE [VEHw F6C 18.7
0435376 | By NI |hr/ zvurx | B dmE [vEY v J6C 20. 1
0274776 |IE ZF 0 &Y 3LHR Bt dtmE |vExHYy JG6C 1.1
0274777 |¥E3T K |[wuzT o4 BiE| tiEE |VEFY v TG 12.8
0274778 (JE#E BRE |kvas vvs | BH| tiBE |VYEY v T6C 13.3
0753230 |YESH [ RUSA 5hY | B hiBE |VYEY Y T6C 12.1
0274782 |HifEH BR I8 7¥5  |Bt| dEE |VEY v J6C 14.4
0274783 (At FH JEE |=x4 wvea | Bi| dmE [vEY v F6C 6.2
0431027 |} CAB  |ru¥w vsvx|@e| dmE |VEH Y TG 12.2
0435364 |¥NA FEBH |rvsz avrx|me| dmE |VEH Y TG 4.4
0553238 (#A5k FRF |=v+#H r®a || dmE [vEYw F6C 22.1
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Glid No. K4 K&HF (i &1 %K%J?\';L% R—L f‘f??,]o;
0157567 [#AFT BRST |=vias rvos|Bi| dmE [vERYw F6C 16.6
0162331 [#AA (& TVEN AYL | BiE| dEE [VEHy TG 12.6
0569621 |#AAK [T [|=wvEr 458> |BiE| #RIE [VEH v TG 10.7
0274787 (A SEE  |=vEbr 2%t | Bi| dmE [vEH v F6C 19.3
0347373 |= F IH— |3h3 a9e gi| tEE |YEYwv T6C 1.4
0961108 |7KFN BB [3XvF 2v4 2| =x#m (V4o TG | KENE
0464536 |JKIT A& |3xEh ev/J|Be| dmE |VEH Y FGC 9.3
0845547 R ] ER s¥s vmy B dmE |VEH Y TG 16.0
027479% BT HiF |[s¥vs wva x| dmE vy v F6C 8.7
0587198 |=H FHist |sve eFx (=] kmE |VEHY TG 23.5
0274795 |¥F & FO¥E |45h3 nxFo|BHE| dmE |VEH Y TG 18.3
0419628 |t E [ Lhs 4hY B dmE |VEHY TG 13.2
0689262 |FTH EX |£5% Cave (@] kmE |VEH Y I 9.4
0776197 |FTH FAE |£5% U7y (B kmE |VEH Y TG 10.5
02714797 |1 F 2z |£5% eFax (=] kmE |VEHY TG 13.4
0274798 (FTH f/F |435% =573 x| dmE vy v F6C 18. 1
0274799 (FFI4 —+PO|a5v< e+ |BiE| dBE |YEHv T | KRENEF
0274801 |RI BAH Eyan 7XS | BH| dEmE [VEHYw TG0 9.2
0136845 |J\ARKH FOE|v=x% 2nx |=k| smE |VEHv F6C 8.9
0274805 |[LI[A] %% vIHF U RL | B dEE [VEH - F6C 8.1
0274806 | FOINF|vex> 7ha |xi| ®E=# |YEHY T | KNG
471821 [IUA H— |v~97F vavsr 8| dme vy v F6C 22.9
1023769 (LU &N |v<¥F /Jen|B#| dEE VXY T | RENE
0274808 ||LIlE ZFEBL |v=v* Freo|Be| dmE [vEHy F6C 22.6
0375045 ||LIl& FNF |v=vx nxa x| dmE [vEH v F6C 19.3
0274809 | LI vYF ML | B kEE [VERY Y T6C 11.2
0274810 [l TEF |v=v*x <=v3av|8n| dme vy v 6 12.2
0274811 |IUFl BIR |v=or roe (B ks |VEHY TG 34.8
0274812 [IUFAA —BR |v=% oo BE| dmE |VERHY T | RENFF
0274814 A YREF ML | BiE| dtEE |YEHy F6C 9.6
0274815 |IUA #82 |vvEr enax|®e| LmE |VEYH Y TG 14.6
0685744 | F FRIT 1y FAY 2| EE |VEY v T6C 8.0
0784543 (FEFF Bi& [324 3veo |8 dmE |vEHv I | KB
0274817 |FEHh AEEZE |32F Lx% Bt dmE VxS v 6 | REVF
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0274818 |fE;E fBA |32/= <vx | BH| kmE VY v T6C 23.9
0573704 |HH B EDZ SN Bl dmE |VEHw I | RENEF
0991360 |HHH FiEn |3vs v¥/u | Bi| dmE [vEyw F6C 18. 1
0788680 |HH %= EDZ S g =D Bl dmE |vxHv T | REVE
0274822 |HEB 44 Ix¥0 end (@] dkmE |VEHY TG 11.5
0274823 |k = ohY s/ | B dEE [vEHY v T6C 9.7
0274824 | &M BREK |vrvE 4o |BiE| dmE [VEH v TG 18.9
0274825 |4k EHR  |orive exvx|Be| dmE |VEY Y F6C 12.7
0782309 |3ED & D8FAR AL (B dEE |VERHw TG0 17.3
0274827 |30 ERHR |75+~ suTk|BiE| dmE (YIS T | KRENEF
0274828 L Tt |7554 eox [Be| dmE |VEH Y TG 1.7
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